MCMOC %%

A hiess s B EL

Rk

mindman

© 357 1 G BRI > iR £ 8~25(8,10,12,16,20,25) » T 388 47 G 5

I B A ER B o

® il S SR T 2 1G SRR ET > N5 | S0 T I SEAR e i o
© GRS AF A ISOREHE » 2 S e - B [ TF SR ELAR ) o
© K IFISO 6432 4 LA 3% 7 (FHE HU 75 J8 45 fFH ) o

" JEE
0 5 22 L SRS AR T (A) S L 2 6 16, 620, 625
' (> fL' AA
! . b -
e 2
U / 4 ‘
ORISR Kk -
G (B B L T E ik MCMOC
L3 RS HE IR BT BB B - 3 AT
R 5 ST PIFE (mm) 8 [10]12][16]20] 25
15 9E Composit polyurethan B4 48 9 <) M5 X 0.8 G 1/8
HEEEE bronge & PTFE {7 ¥ 724,
R polyurethan T 1~10 0.8~10 0.8~10
ppes > 2 PTFE BT w2010 | 2.3~10 |24~10[1510
ronge kgf/cm S w 3-10 2.5~10 2-10
BT 50 SR i 10°C~+70°C (R ukfs)
5ER 5 R HiSH & iR 1357 ) 5ok i 0.6m/sec | 0.7m/sec
= N . < Sl i) ° °
STHE(CEE TR RS +3.5° | +2.5
Uity Sl 4% 1 PUGE M AR 8 F
MCMOC—-11-20—25—-A—FA "suewm w | f GEW)
‘ ‘ T T E B RCS
T E B G SR BK-81
BUER RELRE
|
1: T REHN
2 : i = A AT o
(HfF 16, ¢ 20, ¢ 25) =IE-=I_|'=EIE LB
FERNSR AR : e | FA
R it R =|g=.=-‘f==|§ FB
1[4 EH— L SDB
13| M= | sammas
15| [ {9 | mmmssr
21| =cll= | emss
T
2|5 -%— e 41 oF ch s
2| 6| =TT | swmmsa




MCMOC 48-¢25

V—ll =1 -
A heds A R 5L mMindman
/= =2 _ . B&E .
% BRI TE 7255 B )y kgfiem?
fEH) /5 5K mm? 2 3 1 5 % =
HE: 1 1 B 63 0.63 1.13 1.77 2.52 3.15 3.78
8 4 @E: CIPNE ) 51 0.42 0.93 1.44 1.95 2.46 2.97
63 1.26 1.89 252 3.15 3.78 4.41
5= | mm i
3IA 51 10.2 1.53 2.04 2.55 3.06 357
HE: 4614 2L Bl 100 1.25 2.37 3.63 412 5 6.12
10 4 @B— FIAEH 88 0.91 1.79 2.67 3.55 4.43 5.31
EE: A Eiiikn] 100 2.00 3.00 4.00 5.00 6.00 7.00
EIUN 88 1.76 2.64 3.52 4.40 5.28 6.16
HE: 461 1 L ) 150 2.44 4.08 5.40 6.88 8.37 | 10.12
12 6 @E: CIPNE ) 123 1.61 2.84 4.07 5.30 6.53 7.76
HB_ sy T 150 3.00 4.50 6.00 7.50 9.00 105
3IA 123 2.46 3.69 4.92 6.15 7.38 8.61
HE: 441 2L B 200 3.50 5.00 7.40 8.20 910 | 12.00
16 6 @B— CIPN--L ) 173 1.51 3.25 4.95 6.75 8.45 10.15
EE: A I 200 4.00 6.00 8.00 10.00 12.00 14.00
5l A 173 3.46 5.20 6.90 8.70 10.40 12.10
[@: i EE) 380 4.63 8.78 12.93 15.98 19.52 24.15
20 8 @E: CIPNE ) 330 3.70 5.88 | 10.30 13.6 169 | 20.20
HB_ L 380 7.60 1.4 152 | 19.00 | 2280 | 26.60
ETN 330 6.60 9.90 | 13.20 165 | 19.80 | 23.10
EE: 461 L B 430 6.40 1170 | 1620 | 2150 | 2630 | 31.20
25 10 @B— SIAEH 352 3.52 4.14 7.66 11.18 14.70 18.22
EE: A I 430 8.60 12.90 17.20 21.50 25.80 30.10
BIA 352 7.04 1056 | 14.08 | 17.60 | 2112 | 24.64
BT -
=R W= HE- | T | [ | MB- | T | M-
LI th 2l th 2
8 2010, 15,20 2530040 20450280 | 4o 25.50 | 1025150 2550
10 20100 15,20 20030040 120550280 | 40 25.50 | 1025150 25+ 50 10 25 50
12 2 0y 15,20, 253040 12545080 | 4g. 55 1025 25 102550
16 go \1go‘ ! 5130‘02‘01‘6%5‘ ‘2%%‘ 40> fgo‘ ?(1)6‘080 ; 10+ 25+ 50 10+ 25+ 50 25+ 50 10+ 25 - 50
5.10-15.20-25+3040 | 255080 -
20 5080100 ~ 160 « 200 - 300 | 100~ 160~ 200 | 1072550 | 10-25-50 25~ 50 10-25-50
5.1015.20+25-30-40-50 80| 25+ 50 « 80 -
25 100 + 160 + 200 + 300 + 400 - 500 - 650 | 100 + 160 ~ 200 | 1025750 | 102550 25:50 102550

® LI HEITIR IR R MG W EB AR -



MCMOC ##i R~ ¢8~625

== .
A hEEE SmUBREL mindman
ELEL LR S T tE LR
A
DA Ky BE I ‘,L, C%E
KX \ / ‘
KK ™\ g N 4 :
X i N H
o | i 7 TN
i —— L8] ) <
[
5 [ N
‘ ‘ [ L\
AA K KW BK W A | % ‘ ‘
x =t ——I EW
BF
WF LB+{7f2 BF
XCH{712 |
AM ZN+17F2 '
LT+i742
ook
~“|Aam| BE |BF|BK|[CDP| D |DA|DE|EE |EW| KK | KL | KV |KW| KX | KY | KZ
P (H9) (d13)
8 12 |IM12x1.25| 13 7 4 14 831|118 M5 8 M4 4 19 6 2 -
10 12 (M12X1.25[ 13 7 4 14 10.3 | 14.3 M5 8 M4 4 19 6 2 -
12 16 |M16x1.5 17 8 6 20 12.3 | 17.3 M5 12 M6 6 23 8 10 3 5
16 16 [M16X1.5 17 8 6 20 14.3 | 19.8 M5 12 M6 6 23 8 10 g 5
20 20 |M22x1.5 20 9 8 27 (205|255 (G1/8]| 16 M8 8 32 " 13 4 7
25 22 [M22x1.5 22 11 8 27 [ 225|265 [G1/8| 16 |M10x1.25| 10 32 1 17 5 9

*
flsk WF | XC
| L | LB | LE|Ls | T MR | WEIXCzc 2N

8 6 45 6 33 86 18 16 64 | 20 73
10 6 45 6 33 86 18 16 64 | 20 73
12 9 46 6 34 | 102 | 22 22 75 | 20 85
16 9 53 6 41 107 | 22 22 82 | 20 92
20 12 67 8 51 132 | 25 24 95 | 20 112
25 12 72 8 56 | 143 | 25 28 | 104 | 20 | 121 XECHER A ISO 6432 Bl

@E: LS

CIPN: X ki
KK T
N\
WF+{7f2 LB1
‘ XC1+0.1
AM ZN1
LT1
(% LB1 LS1 LT1 XC1 ZN1

IS 10 25 50 10 25 50 10 25 50 10 25 50 10 25 50

8 65 95 145 | 53 83 | 133 | 223 | 116 | 236 94 | 139 | 214 | 16.5 | 103 | 148
10 65 95 145 | 53 83 | 133 | 223 | 116 | 236 94 | 139 | 214 | 16.5 | 103 | 148
12 66 96 146 | 54 84 | 134 | 235 | 132 | 252 | 105 | 150 | 225 | 16.5 | 115 | 160
16 73 103 | 153 | 61 91 | 141 | 242 | 137 | 257 | 112 | 157 | 232 | 16.5 | 120 | 167
20 87 17 | 167 | 71 101 | 151 | 262 | 162 | 282 | 125 | 170 | 245 | 16.5 | 142 | 167
25 92 122 | 172 | 76 | 106 | 156 | 281 | 173 | 293 | 134 [ 179 | 254 | 16.5 | 151 | 196




MCMOC ##i R~ ¢8~625

A hEds 5| ER BT mindman
TR 1T R - .
KV

N\ | r

AA d Kwi | [ BK & i’“ || [kw

BF BF
WF LB+{7H2 BF
AM ZN+{7H2
LT+712 LW

g
| AM | BE | BF|BK| D |DA|DE|EE| KK |KL|KV|KW|KX|KY|KZ

8 12 [M12x1.25 13 7 14 83 | 11.8 | M5 M4 4 19 6 2 -
10 12 [M12x1.25 13 7 14 | 103 [ 143 | M5 M4 4 19 6 2 -
12 16 [M16x1.5 | 17 8 20 [ 123 | 17.3 | M5 M6 6 23 8 10 3 5
16 16 |[M16Xx1.5 | 17 8 20 | 143 | 19.8 | M5 M6 6 23 8 10 3 5
20 20 [M22x1.5| 20 9 27 | 205|255 |G1/8 M8 8 32 11 13 4 7
25 | 22 [m22x15] 22 | 11 | 27 | 225 265 [G1Blmioxt2s] 10 | 32 | 11 [ 17 [ 5 | o

X X

Ml | L | s | T | ww | WF | zc | zn
oL +1.2

8 | 45 | 6 [ 33| 86| 15 | 16 [ 20 | 73

10 |45 | 6 | 33 [ 8 | 15 [ 16 | 20 | 73

12 46 6 34 | 102 22 22 20 85

16 53 6 41 107 20 22 20 92

20 67 8 51 132 23 24 20 112

25 72 8 56 | 143 | 29 | 28 | 20 | 121  esgmEN~}£S 1SO 6432 #idi

(o 3 3
@— ==X Rl a0 —] f==
A | H
—\ ‘ —\_/
N
A-A _.|
5% | LB1
W@ 18.15
8 1
10 1
12 1.2
16 1.2
20 3.2
25 3.2




MCMOC ErEpIR % s8~025

A hE s S EREL mindman

JEIERARH : RCS
TR IERH B 7« BK-81

8 | 195 15 22
10 | 21 15 22
12 | 225 | 15 22
16 | 235 | 15 22
20 | 265 | 15 22
25 | 27 15 22

At
‘LB

CM+f712
R il W
Y i ! i A
fi=n !
I 7 T ] T
A 7 S —
= W
= B RN ]
| o)
AT w
XS LA+{F52 AU |
|
AM FM ME+{7f&
| |

ﬁz AM | AR | AT |AU ([CM | EC |FB [FM | LA | ME | NH | PE | TR | US | XS
8 12 10 16 | 10.5| 76 45 | 45 5 30 67 16 | 121 25 35 | 235
10 12 10 16 | 10.5| 76 45 | 45 5 30 67 16 | 121 25 35 | 235
12 16 12 21 13 89 55 | 55 9 27 74 20 | 161 32 42 | 32
16 16 12 21 13 101 | 55 | 55 | 95 | 34 80.5| 20 | 16.1 32 42 | 32.5
20 20 20 29 | 17 17 | 65 | 65 | 85 | 43.5|101.5| 25 | 221 40 54 | 36.5

25 22 20 29 | 17 [131.5) 65 | 65 | 125 | 485 108 | 25 | 221 | 40 54 | 40




MCMOC Ze:6E: ¢8~625

A hE s S EREL mindman

CFA )

LM+ 72 ‘
a I [
(Y ) Dol Y
| e
HR-H —— —— +tgHH
H 1T
A ", —A_
o=y
AM w || ec w
T

S |AM [ EC | FB | LM | PE | TF | UF [ UR | W

8 12 3 4.5 64 | 12.1 30 40 25 13
10 12 3 4.5 64 | 12.1 30 40 25 13
12 16 4 5.5 72 | 16.1 40 53 30 18
16 16 4 5.5 79 | 16.1 40 53 30 18
20 20 5 6.5 96 | 22.1 50 66 40 20
25 22 o) 6.5 | 105 | 22.1 50 66 40 24

GV+{7#2

,,,,,,,

gjz AM | BR [ CC | EC | EV | FB |GV | NH | TB | TU | UE | UT | WK

8 12 4 25 81| 45| 82 24 125| 6.5 | 23 17 5
10 12 4 2.5 81| 45 | 82 24 125| 6.5 | 23 17 5)
12 16 6 3 121 | 55| 93 27 15 5 25 23 8
16 16 6 3 12.1 | 5.5 [100 27 | 15 5 25 23 8
20 20 10 8 4 16.1 | 6.5 [117 30 | 20 6 32.5| 30 10
25 22 10 8 4 16.1 [ 6.5 [126.5] 30 | 20 6 32.5| 30 10




	規格
	理論出力表
	外觀尺寸
	外觀尺寸
	感應開關安裝
	安裝配件

